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Instructions
For the following questions answer them individually

Question 1

Find the number of even factors of 15680.

Answer: C

Explanation:

We have to factorise the number into prime factors i.e
15680=2° % 5 x 72

No of even factors =6*(1+1)*(2+1)

=36

Question 2

Find the number of prime factors of 14560

D 6

Answer: B

Explanation:

We have to factorise the number into prime factors i.e
14560=2° % 5 x 13 % 7

There are 4 different prime factors namely 2,5,7 and 13.

Question 3

What is the square root of 97-1 6\/§

A 943
B 9+4v/3
C 7-4/3



D 7+4/3

Answer: C

Explanation:

we have (a — b)*=a® + b* — 2ab

Comparing this with 97-564/3=a2 + b®> — 2ab

We have 97=a? + b?

For a=7 and b=4+/3 it gets satisfied and also 2ab=2*7*4+/3
Sothe (7 — 44/3)%=T2 + (4v/3)2 — 2% T*x 4% +/3

And so required answer is 7-4\/§
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Question 4
111,111,111 111
2-2-3+1-7-3+5-5-5—93-5.5-5
Find the value of 1313 i) 14 % 411 91919 1 13 41 91
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A 36
19
B 3%
24
C 3
17
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Answer: A
Explanation:

The given equation is in the form of
a®+b%+c® —3abc
a?+b?+c? —(ab+bc+-ca)

We know that a® + b® + ¢® — 3abc = (a + b+ c)(a® + b* + c* — (ab + bc + ca))

_ a’® 4+ +c%—3abe _
=z +b%2+c? —(ab+bctca) atb+tc
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Question 5
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13
C 2

11
20

Answer: B

Explanation:
The given equation is in the form of
a®+b3+c —3abe
a?+b?+c* —(ab+bc+ca)
We know that a® + b3 + ¢3 — 3abc = (a + b+ ¢)(a? + b* + ¢ — (ab+ be + ca))
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Question 6

The lines 2x+y = 3 and x+2y = 3 intersect at points

A (1)
B (-1,5)
c (03)

D (3-3)

Answer: A

Explanation:

Given 2x+y = 3 and x+2y = 3
Solving above equations,
Wegetx=1andy=1.

Hence, the lines intersect at (1,1)
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Question 7

IfIf (37)(3Y) = 9 and (5”)(125Y) = 625, then find (x,y)
A (4-2)
B (02)

c (1,7

D (6-4)
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Answer: C

Explanation:
Given (3%)(3Y) =9

== 3$+y — 32
=>xty =2 (1)

(5%)(125Y) = 625

> (57)((5)") = 5°

> (5)(5") = 5°

=>5" + 3y = 54

=>r+3y =4-(2)

Solving (1) and (2)
=>2y=2=>y=1
Substitutingy = 1in (1) —>x =1
Therefore, (x,y) = (1,1)
Question 8

If (27)(2Y) = 16 and (3)(9Y) = 27, then find (x,y)

A (40
B (32
c (5-1)

D (6-2)

Answer: C

Explanation:
Given (27)(2Y) = 16

=> 27ty — 24
=>xty=4-(1)
(3°)(9¥) = 27
=>(37)((3%)) = 3°
> (3°)(3%) = 3°
=>3% +2y =33
=>r+2y=3-02)
Solving (1) and (2)

=>y= -1
Substitutingy =-1in (1) ->x=5

Therefore, (x,y) = (5,-1)



Question 9

3a®+3b° +3¢°

Ifa=17,b = -4, c = -13, then find the value of
4abc

W
ST

O
N[V

Answer: D

Explanation:

Givena=17,b=-4,c=-13

Then a+b+c = 0.

We know that if a+b+c = 0, then a® + b® + ¢® = 3abc
363 436° 433 3(a®+b*+c’) _ 3(3abe) __ 9

Then, 4abc - 4abc - 4abc - 4
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Question 10

a®+b3+c3

If a=48,b =16, c = -64, then find the value of abe

A 176

D 12

Answer: C

Explanation:
Givena=48,b=16,c=-64
Then, a+b+c =48+16-64 =0

We know that if a+b+c = 0, then a® + b® + ¢® = 3abc

3 3 3
Hence, a’+b°+c” __ 3abc _ 3

abe abc
Question 11
. 1
Find the value of 1 + ¢ PR
o 1
1+ 1
1-7
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7
19
B 3
20
¢ 7
17
P 33
Answer: C
Explanation:
14— —-
L
1
1=7
:1+1_11
T
6
=1+1_1L
13
6
1
=14+ 5
1—13
St
13
1. 13
=1+ 7
_20
7
Question 12

Ifa:—l:3,then333—i3:?
X X

A 24
B 28
C 36

D 42

Answer: C

Explanation:

Given:z:—l:?)
XL



Cubing on both sides
s — m% $$-3\timesx\times\large\frac{1{x}$$ (z — %) =27
=>a:3—xl—3—3><3:27
=3 — Lg -9 =27
X
1

3

=z’ — 5 =36

8
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Question 13

If (a — b)? = 16 and (a + b)? = 36, then find the value of aa—&

D *

Answer: A

Explanation:

Given (a — b)? = 16 and (a + b)? = 36
(a+b)? = (a—b)? + 4ab

36 = 16 + 4ab

=>4ab = 20

ab=>5

(a + b)? = 36
=>a+b=26

ab __ 5
Hence, b — 6
Question 14

If a+b = 5 and a-b = 1, Then find the value of ab

D 12

Answer: B
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Explanation:
Given,atb =5
a-b=1

Then,2a=6==>a=3

Substituting a = 3 in above equation
==> b = 2

Hence,ab=3*2=6
Question 15

If3X + % — 6, then find the value of X% + %

Answer: D

Explanation:
Given 3X + % =

1
=3(X+%)=6
=X+ 5=
Squaring on both sides

1y2
(z+5)" =4
2 1 1
=T —|—w—2+2><£l,'><;=4
=22+ 5 +2=4
1

$LE2+$—2:2

Cubing on both sides

(a® + 57)° =8

m6+l+3xx2xix(m2—|—L)—8
6 x2 x2/

=20+ 2 43x2=8

nab 4+ 5 =8-6=2
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Question 16

1

If2X + % = 6, then find the value of X° + %5

A 123
B 121
C 116

D 107

Answer: A

Explanation:
Given 2X + % =6

1
= 2(X + y) =6
=X+ 5 =301
Squaring (1) on both sides
(z+ l)2 =9

T

S
I
©

:a:2+wi2+2><a:><
=2+ 5 +2=9
=2+ 5 =T7->(2)
Cubing (1) on both sides

1V3 _
(a:—l—a:) =27

3 1 1 L
=2+ 3 +3xzx = x(z+ —)=27
& x x

=2’ + 5 +3 x 3 =27

=20+ 5 =27-9=18->(3)
Multiplying (2) and (3)

z? + = xa® + -5 = 18x 7
:>ac5—i—wi5—|—a:2 X w%thg’ X %:126
= 2® + 54z + = =126

Substituting  + % = 3 in above equation
= 2’ + -5 +3 = 126

= 2 + 5 = 123



Question 17

D 14

Answer: B

Explanation:

Then, /56 — X = X
Squaring on both sides,
56 — X = X2

>X?+X-56=0
X2 _8X +7X—-56=0

SX(X—8)+7(X—8)=0

= (X-8)X+7=0
=X =8or X =-7

Hence, Option B is correct answer.

Question 18

D 10

Answer: B

Explanation:

Then, v/20 — X = X
Squaring on both sides,
20 — X = X?

X2+ X-20=0



X2 -4X +5X —-20=0
> X(X—-4)+5(X—-4)=0
= (X-4)(X+5=0

=X =4orX =-5

Hence, Option B is correct answer.
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Question 19

D 10

Answer: B

Explanation:

Let\/42—|—\/42—{— 42 + ... =X
Then,v/42 + X = X

Squaring on both sides,
42+ X = X?

X2 -X-42=0

> X2 —7X +6X —42=0
=>X(X—7)+6(X—7):0
= (X-7(X+6)=0

=X =TorX =—-6

X cannot be negative when all the terms are positive.
Hence, X =7

Question 20

A 12

B 15

C 6
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p 18

Answer: C

Explanation:

Then, /30 + X = X

Squaring on both sides,
30+ X = X?

X2 -X-30=0
=»X2—-6X+5X-30=0
- X(X—-6)+5X—-6)=0
= (X—-6)(X+5)=0

=>X =6o0orX =-5

X cannot be negative when all the terms are positive.
Hence, X = 6

Question 21

D 16

Answer: B

Explanation:

Then,v/6 + X = X

Squaring on both sides,
6+ X =X?

X2 -X-6=0

X2 -3X+2X-6=0
> X(X-3)+2(X-3)=0
= (X-3)(X+2)=0

=X =3o0rX = -2

X cannot be negative when all the terms are positive.
Hence, X = 3
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Question 22

Find the value of \/ 7/ 7/ 7......

A VT
B 49
c 7

D 264

Answer: C

Explanation:
Let A/ 7/ T~/ T...... =X
Then, v7X = X

Squaring on both sides,
X = X*

Question 23

Find the value of \/ 41/ 4+/4......

Answer: A

Explanation:
Let v/ 44/ 4+/4...... =X
Then,v4X = X

Squaring on both sides,
4X = X2
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Question 24

Find the value of \/ 31/ 3+/3......

D 1.2

Answer: B

Explanation:

Let v/ 3v 34 3...... =X
Then, v3X = X

Squaring on both sides,
3X = X?
=>X=3

Download SSC Current Affairs Quiz PDF

Question 25

1

1+—5
1+3

Find the value of 1 +

Answer: D

Explanation:

1 1
1+ ;=1+ 1
1+H% 1+%

1

1+2

:]_+

1
5
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143

_12
T
Question 26

1

1+—1
1+3

Find the value of 1 +

20

c13

17
D 33

Answer: C

Explanation:

1 1
1+ T— =1+ 1
T T

=1+L

6
1—|—7
1
:]_—|—1—_3
7
:1—'—1

_ 20
T 13

Question 27

—_
w

1

1+
1+1

Find the value of 1 +

c

~J|0co

D

[SHEN

Answer: B

Explanation:




e S
) 2
1

1+ @

141
3

g4
_8

5
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Question 28

1_ 5, 1L _9
Ifz 4~ = 3,then z° + 5 =1

A 123
B 121
C 116

D 107

Answer: A

Explanation:
Given & + % =3->(1)

Squaring (1) on both sides
1\2 _
(x + :E) =9

S22+ S 42Xz X =9
T T

=2+ 5 +2=9

:>x2+mi2:7——>(2)

Cubing (1) on both sides
(z+1)3 =27

1 1 1
:>a:3+$—3+3><a;><5><(a;—|—;):27
:>x3+wi3+3><3:27

=P S =27 -9=18->(3)

T



Multiplying (2) and (3)
22+ xab 4+ L =18 x7
X X
:>x5+i—|—x2 X L-l—as?’ X — =126
z° z3 z2

5 1 1_
= x° + 5 +93—|—x—126
Substituting « + % = 3 in above equation
= a° + -5 +3 = 126

- 25+ w% — 123
Question 29

Ifx + % = 2, then find the value of 2% + xiﬁ

Answer: A

Explanation:
Given x + % =2

Squaring on both sides

(w—l—l)2:4

T

=4

8 [=

$w2+wi2+2><m><

¢x2+mi2+2=4

:>a:2—|—wl2:2

Cubing on both sides

(z® + w%)3=8

20+ 2 +3 x 22 x =y x(22 + o) = 8
=2’ + 5 4+3x2=8
.‘.w6+%=8—6:2

Question 30

Ifx + i — 4, then find the value of z° + %3



Answer: C

Explanation:
Given ¢ + 1_4
X
Cubing on both sides
(z+1)% =64
:>:IZ3+L+3><:L'><1 X (:B—I—l):64
.’173 X X

= 2® + 5 +3 x 4 =64

= a® + 5 +12 =64

o3 1
ST —|—x3—52
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Question 31

If x + % — 3, then find the value of 2> + x%

Answer: B

Explanation:
Given x + % =3

Squaring on both sides
(z+ l)2 =9

€T
2 1 1_
=T +w2+2><a:><m—9

=2+ 5 +2=9
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=z + miz =7
Question 32

What is the units digit of 1717 *3333

Answer: D

Explanation:

In the power cycle of 7 we get units digit for
=7

72 =49
7 =243
74 = 1701

And this cycle repeats. Cyclicity =4
1744+ has 7 as its unit digit.

In the power cycle of 3 we get units digit for
31 =3

32 =9
33 =27
3t =81

And this cycle repeats. Cyclicity =4
338(4)+1 has 3 as its unit digit.
So the product of 7 and 3 is 21 and so the units digitis 1.

Question 33

What is the units digit of 2727 2

Answer: C

Explanation:

In the cycle of 7 power we get
=7

72 =49



73 = 243

74 = 1701

And this cycle repeats. Cyclicity =4
274(6)+3 has 3 as its unit digit.
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Question 34

If z + % = —2 then the value of x? + 27 is: (Where p is an even number and q is an odd number)

Answer: D

Explanation:
Given:x—l—% = —2

2
z’4+1
== =-2

=>z2+1+22=0

=>

= (z +1)? =

=>z+1=0

=gz =-—1

cxP+ 2?7 (letp=2andq =1)
=>(-1)2+(-1)'=1-1=0
=> Ans - (D)

Question 35

If p(z + y)? = 5and g(z — y)? = 3, then the simplified value of p*(z + y)? + 4 pq zy — ¢*(z — y)?

IS:

A —(p+aq)
B 2(p+q)
C ptg

D —2(p+gq)

Answer: B
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Question 36

1 B 3 A
V11-2v30 4/7-2V10 /8443

The simplified value of the following expression is:

A0

B 1
cC V2
D 3

Answer: A

Explanation:
Using, a® + b? + ab = (a + b)?

= V11— 2/30 = 4/ (V6)2 + (v/5)? — 2v6v/5 = (V6 — 5)

Similarly, v/7 — 2+/10 :(\/_—\/5)
and /8 4+ 4v/3 = v/8 + 212 = (V6 + V/2)

To find : L — 3 — 4
V11-2v30  4/7-2V/10 /8443

_ 1 - 3 - 4
T (V6—vB)  (VB—v2)  (V6+V2)

Rationalizing the denominator, we get :

=[5ty * Bl ~ 5ty < Al s ]
= (V6 +/5) — (VB + v2) — (V6 — v2)
=0
=>Ans - (A)
18,000 SSC Free Solved Questions (Study Material)
Question 37

A 2V2
B 23
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Answer: D

Explanation:

=>z=412+z

Squaring both sides, we get :
=>x? =+ 12

>z —z—-12=0

=>z? —4x+3x—12=0
=>z(zx—4)+3(x—4)=0
=(x—4)(z+3)=0
=>x=4,-3

*." & cannot be negative, =>x = 4

=> Ans - (D)

Question 38

The value of x in the following equation is:

0.3+0.6+0.7+08==zx

D 2.35

Answer: C

Question 39

112 + 22 + 32 +........ +p? = 22D hen12 432 4+ 5% +

A 1785
B 1700
C 980

D 969

Answer: D

Explanation:

+ 172 is equal to:



Expression: 12 +3%2 + 5% + ........ + 172

=[12 + 22+ 32+ 4%........ + 167 + 172] —[22 + 4% + ......... + 167
=[17 +22 + 32+ 4%........ + 162 + 172 —(22)[12 + 22 + 3%......... + 82
_ [17(17+1)+(34+1)] . [4 X 8g8+1)g16+1)]
6 6
17(17+1)+(34+1 8(8+1)(16+1
=[(+2;+(+)]_[4><(+)é+)]
[

=[51 x 35] — [48 x 17]
=17 x (105 — 48) = 969
=> Ans - (D)
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Question 40

Given 22 + 42 462 + ........ + 402 = 11480, then the value of 12 + 22 + 32 + ........ + 202 is:

A 2870
B 2868
C 2867

D 2869

Answer: A

Explanation:
Given:22 + 42 + 62 + ........ +40% = 11480

=>22[1+22 + 3% + ... +20%] = 11480

=>12 422 432 +........ +20% = 1%

=12 422 +32 + ... + 202 = 2870
=>Ans - (A)
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